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flgz) = [[(1+ ¢ 2) (1 + ¢ *27?)
n=1
1+ q_lz_2 a

_ H(l + q2n—122)(1 + q2n—lz—2)
1+ gz2 e

=q 'z*f(2),




Jacobi D = EHEA AR DEEH

IRIZHERRFID 52 FHH T 5.

f(qz) = a0 + i an{(q2)"" + (a2) "}

n=1

=ao + Z q*"an2*" + Z q az”?",
n=1 n=1
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’ﬁo4 + ’ﬁ24 = ’ﬁ34-
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x R 9§ + 093 = 93 (O = 04(0]7) ) 1% Jacobi HEFIEEE D 5 — X BEETR A 5
EHLUZOT, SHBERETI r=it, t >0 ZIKELTWEH, 94(0|7) 1k
ImT >0 CIEMTBIBUL DT, ERBEBGHRO—HDOEELD, §TD 7
(Im7>0) T L THED LD,




Jacobi FE & D 7 — X BEFRR

o 790 792(U/2K|T)
= 92 o(u/2K|T)’

!

_ D3i(u2Kin)
- 192 ﬁo(u/2K|7‘) ’

1y _ Yo 9s(u/2K]7) K’
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